


Pocchuabl
» Ca,P, + 6HCI = 3CaCl, + 2PH,T,
» Ca,P, + 6H,0 = 3Ca(OH), + 2PH,T

®ocuH q /HPH = 93,5°
» PH,; + 20, = H;PO, «

+ PH, + HCIO, = PH,CIO,
* PH, + HI = PH,|

* PH,l (+H,0) = PH,T + HI
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Kucnotbl poccopa (V)

* P,O; + H,0 =2HPO, wmeTadocdopHas

» P,O¢ + 3H,0 = 2H,PO, (t) opTodocipopHas
* P,O,4+ 2H,0 = (HPO,),

* P,O; + 2HNO,; = N,O + 2HPO,
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Kucnotbl poccopa (V)
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Kucnotbl poccopa (V)
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PocaThl
PO,% HPO 2 H,PO,
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PaAcTBOPMMOCTb B BOAE

Ca,(PO,), + 4HCI = Ca(H,PO,), + 2CaCl,

PO,3 + H,0 == HPO,?> + OH-
HPO,2 + H,0 H,PO, + OH-
H,PO, H* + HPO,?

2M,HPO, = M,P,0-, + H,0 (t)
MH,PO, = MPO, + H,O (t)



KayecTBeHHbIE peakuuu
choccaToB '

3Ag* + 2HPO,% = Ag,PO,4 + H,PO,
XENTbIN
4AAg* + 3H,P,0.,% = Ag,P,0,4 + H,P, 0,

oenbin

H,PO, + 10M00O,%* + 12H,0 =
(NH,)3;[PMo0,,0,,] — xentuiii ocapok
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e Anatut
Ca;(PO,);(F,Cl,OH)
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®occhopHbIe ynodpeHus

Cas(PO,), —

MYyKa)

CaHPO, -2l

dbocpopuTt (dpochopunTHada

,O — npeymnuTaT

Ca(H,PO,), -2CaS0O, — cynepdocdart
Ca(H,PO,), — oBonHou cynepgocdar
(NH,),HPO,+ (NH,)H,PO,—ammodoc
* (NH,))KHPO,—ammodocka



PoccopuUucrtan Kucnora u

dochurthbi 0
P203 + 3H20 = 2H3P03 HO M: OH
PCl, + 3H,0 = H,PO, + 3HCI |
oK, 1,5 pK, 6,8 H

2P + 2NaOH + H,O = PH, + Na,HPO, (t)

H,PO, + H,O = H,PO, + H,T (&)
4H,PO, . = PH, + 3H,PO, (t)
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PoccopHOBaTUCTAA
Kucnora v runodgoccpurhbl

AP + 3NaOH + 3H,0 = PH, + 3NaH,PO,
Ba(H,PO,), + H,SO, = H,PO, + BaSO,

H,PO,~ +30H~ — HPO,°~ + 2H,0 + 2e
2H,PO,~ — PH, + HPO,2 (1) 0O
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NaBIO,
Bi(OH),; + 3KOH + K,S,04 = KBIO, +
2K,S0O, + 3H,0 BucmyTaT K

KpacHO-uon.



